il

g
=
s
i

1. ¥¥4
B4 ST 6 FEEGRE AMGEE Y — VS B ¥R
JBA T NN e

2. ¥EBNR
1) FH4 HIERERE A T At 2 — Bk
172 HIH H 4&f1 64 9A10H

2) JE1THIR
£ o TH 2H28H

3) B
AEHBIL, BRI AR DIRRAR - BUHHED S
HHORH, A>T AR O ORRARHE Y — A DR (T

LOTHD,

4) FEHBNA

S nl i E WS M ESbE VAR 3



i

I
St

il

\
Y/

%lljll
I

¥4 | A6 FEBREH AR Y — VW B ¥R ¥
HH TEEE h % AR
THHE - THE - R BT & 4 BN R
TE PR AR = 5, 725, 200
Y — L B 2V 5, 725, 200
R = 367,600 | FiEf
1 K
R ESEE Y — L oWE - & 2y 997,500 | BEFVRIGRERMGEE Y — L OusE
B Je OB H 5 DB 1 e
VR= 2T YV AERR 2y 3,018,800 | HHIERET VOIER
1 X
BIGHBET L OIERR
10 =)
~ == T VEH X 637,900 | ~ == 7 /LEH
1 X
A EERL 2V 703, 400 | HEEMER
1 X
Iim = 549, 700
am GRAE - FHEEEs) X 549, 700
e 2V 422,500 | 1A
1 =
INBHAR S SRR = 127,200 | ZABARR S ER
1 e
[ERE5 S = 234, 496
[ERE S = 234, 496
TR e = 93,496 | fikE (FF+L - ERE
1 =
R e T #: 141,000 | #EF-RRAL VRS
1 =

S nl i E WS M ESbE VAR 3



FEH N

%lljll
I

kWA | A6 FERBREHARGEE Y — VB ¥R E BOES
H H ERERAM (O <)
THH - T - fER] A7 ¥ = 4 % OB ORR
EREEM (ZOMEmER<) = 1 6, 509, 396
Z DA =X 1 3,379, 033
— B PR 2y 1 5,321, 571
SERSMRE 2y 1 15, 210, 000

-2 - S nl i E WS M ESbE VAR 3



